
Math 340 - ARC
Lui

Quiz 12
Name

No notes or calculators. Show all work.

1. (4 points) Find all the first partial derivatives of the function below.

f(x, y) = 3e6y−7x

fx = 3e6y−7x · (−7) = −21e6y−7x

fy = 3e6y−7x · (6) = 18e6y−7x

2. (6 points) Given the function and its first partials, find all the second partial derivatives.

f(x, y) = ln |5x− 7y|

fx(x, y) =
5

5x− 7y
fy(x, y) =

−7

5x− 7y

We can use the quotient rule or rewrite the first partial derivatives as

fx(x, y) = 5 (5x− 7y)−1 fy(x, y) = −7 (5x− 7y)−1

fxx = 5(−1)(5x− 7y)−2(5) = −25(5x− 7y)−2

fxy = 5(−1)(5x− 7y)−2(−7) = 35(5x− 7y)−2

fyy = (−7)(−1)(5x− 7y)−2(−7) = −49(5x− 7y)−2

fyx = (−7)(−1)(5x− 7y)−2(5) = 35(5x− 7y)−2
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